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This boaklet is your Question Paper. DONOT break seal of
Booklet until the invigilator instructs to do se,
FilmurmeNnhﬂuspmpmddmhtnpﬂﬂ\hpage.
The Answer Sheet is provided to you separately which s a
machine readable Optical Response Sheet (ORS). You have to
mark your answers in the ORS by darkening bubble, as per
Your answer choice, by using black & blue ball polnt pen,
Tatal Questions to be Attempted 50 Part.l: 30 Questions
& Part-ll : 20 Questions.

. After breaking the Question Paper seal, check the following :

a. There are 19 pages in the boaklet containing guestion
no. 1to 50 under 2 Partsi.e. Part-l & Part-ll,
. Part-l contains total 30 questions uptor 4 iections
which are-Section (A : Physics, So'tion [8); Chemistry,
Tartnn 0L U e ST alagy,
. 1101 [Mental Abiliy).
wering Stream attampt Only
(iNg) - .on-B (Chemistry) &
Section-C (Mathemata:),
*For Medical Stream attampt OniyZ ection-A [Physles),
Section-B [Chemistry) & Section-D [Biology).
Marking Scheme : [
a. If darkened bubble is RIGHT answeer : 4 Marks,
b. If no bubble is darkened in any question: No Mark.
¢. Only forpart - 111  darkened bubble s WRONG answer:
-1 Mark (Minus One Mark).
Think wisely before darkening bubble as there Is negative
marking for wrong answer,
if you are found involved in cheating or disturbing others
then your ORS will be cancelled,
Do not put any stain on ORS and hand it over back properly
o the invigilatar,
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PART -I’i:;?/\y ®

Section(A) .
(Physics)

J__,-""ﬂ.l the given circuit, the value of tatg) current | passing will be -

@ﬁﬁ T 9fey & um |
(A)1.0A (C)0.24 (D) 2.0
. How many electrons constitule current of one micro ampere in ane second 7 :

T. (A) 625 = 100 {BYE25 % 10" (C)6.25 =100 (D)6.25x10% T~
.'Wwwmﬂﬁﬁﬂmﬁﬁﬁﬁmiﬁrg? . :
i (A) 6.25 = 10* {B)6.25 x 10% (C)6.25 x10° (D)6.25= 10" N

g 8
The S.1. unit of magnetic field jntensity s - ‘L/ o
A) Weber ((BlTesta ) Dersted (D) Gauss \

Y i @ den ) S5 &
(M) & (B) & (Cairre (D)

(A) translatory motion (B} rolatory motion

A body which produces sound is in the state of :
@ s fivg = 5 = wer 3 & sy oo € 2

(A) w7 T i (B) i ify
¥
i g @ B’Y&:‘:}Ti'ﬂ T o
I;"' b 'T:: e ° E‘u * II
. oas
s a7 R 3
13- © &k o=




5. If an electric iron of 1200 W is used for [5/ 1200 W =t ue forge S w1 o & 0T8T 3997
30 minutes every day, electric energy # form = &, mmﬂm‘ﬁ e 2 I
consumed in the month of April is w1 Fnit ' R
(1) 5 kWh (2) 10 kWh : (@ 5 kWh . 27710 kWi )(
(3) 16 kWh (4) 18 kWh 3) 16 kWh -1@Elﬁm

6 In a hydroelectric power plant more electr w Toregm i i 4 anfirer e wifm ae=
power can be generated if water falls from a AHE A w i fad & fromaw, w1
ﬁﬁfﬁ“m m;lf (1) Tai e & e qfg & il &

(2) larger amount of potential energy is & PR Bl
converted into kinetic energy '

(3) the clectricity content of water increases (3) Mﬁqﬁﬁﬁﬂﬁﬁﬂﬁgﬂqﬁﬂmﬂﬂ'ﬁﬁﬁ'
with height &

(4) more water molecules dissociate into jons (4) w1 % il oy st ¥ ferdiform @ &

% The weight of an object in the coal mine, sea
E\ﬂ,ﬂﬂl:i:pﬂflh#mmlﬂn!qu. wWok oL
W, respectively, then :-

FMW F €EH, 99% B TAE 997 w3
wEN T A mE: W, W, AW, 8

O W<WSW, @ WaW,-W, @wsw>w, o w-w-w
L3 W, <W, <W, @ W >WeaW,, " Pfé‘ﬂ’:{ﬁ; f,{djﬁ';}WI}WI
%\ ik o
BTl @™ S T=3owmin 27
i *;‘:,"':_ l‘"’“ (2:1 g7 ! 3
= el
| y DA LE =
A PE Lo g
(DR IER I
Vo Cx 4198 G, e
o TGN N 2
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(1A 2)2 A (3)4 A 4954

The incorrect statement regarding the lines of TERM 8 B 1 99 T $ 6§ T S
force of the magnetic field B is -
(1) Magnetic intensity is a measure of ifies of T=H1a dam e T e @ e
force passing through unit area hield normal e W e W W e
to it % o -
(2) Magnetic lines of force form a close curve @ . .- . i
(3) Inside a magnet, its magnetic lines of force
move from north pole of a magnet lowands /ﬂ}ﬁﬂmmmwmmﬁ
its south pole ﬂa’r‘&aﬁﬁﬂaﬁaﬂ?ﬂﬁmh
(4) Due to a magnet, magnetic lines of force td]m%mmﬁmﬁﬁﬁﬁ—{ﬁ
never cut each other w7 e *
% An electric kettle consumes 1 kW of electric (1/ I T 2wl 220 Vo v g 1 kW g
power when operated at 220 V. A fuse wire of I T F ) T e fem s e e
what rating must be used for it? A w1 FTam e w1 =i ?

1A _o2a @4a (G)sa

0. An electric lamp uses energy at the rate of _,fl'lf_ T == 12 V w48 Wﬁx’iﬂi‘rﬁ

48 W on 2 12 V supply.

How much charge passes through the lamp in

oY F ¥ 2 Teen | 599§ S o SR

2.0 seconds 7
(1) 4 amperes (2) & amperes _ 4 amperes .[} 8 amperes
(3) 48 coulombs (4) 8 coulombs (3) 48 coulombs s conlombs
_.__,_,--""
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“[#F Section (B)
Jeo

(Chemistry)

x,’}

of the lollowing has more electrons than neutrons 7

(B)C (cyo* (O)F
W Ferpil @ wen gt @ s g 7 2
) (BjC = LT[ -2 | O (D)F

1 Twonuclides X and Y are isatonic to each other with mass numbers 70 and 72 respadi-.-;:ly. If the atomic number of
Xis 34, then that of Y would be

(A)32 (B) 34 (96 (D) 38
= T X T Y R T e w700 728, O g @ Wi & 1 aft 0 e viem 348, @
v A He -
(A)y32 (B) 34 LACH3E (D)3&
Ratio of N-14 and N-15 in a sample of nitrogen s 272 : 1 . Calculate the average atomic mass of nitrogan. .
4 (B)14.5 ()15 (D) 15.25 ]
. a%qasﬁelﬁu-uqaiﬂdsﬂaﬂqmz?z‘:i#,..?ﬁaﬁlma#aﬁmm mﬁmaﬁﬁmw
(B)14.5 _{C)is {PH5.2
nthe reaction 2H,S + 30, — 2H,0 + 35, the substance that is oxidized is -
)Hydrogen sulphide  (B) Sulphur dicxide (C) Sulphur _iDyWater |
=AM 2H,8 + 50,— 2H,0 + 35 § sriigm 1 mien vl 4
\:ﬁmﬁmm (B) Fet ST (C) Tt (D)7=
b
—_— SPACE FOR ROUGH WORK /7% %l # Tod wmg I
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18.

\

vogadro's number represents the number, of ey 1 4 Forgll AT W HEW, HEmE -
atoms in- m H;T;E_
B
12 g of C¥
(2) 320g of sulphur (2) giﬂ g HER
(3) 32g of oxygen ; \g/ e
{(4) 12.7 g of iodine 2.7 g SmiteE

18.

T,
Correct statement among the following. g PR T T v
(1) Homologous have same chemical Vu/ (1) el & et A W 7w e
physical properties. : £ :
(2) T 2 e HA T o TR

(2) Homologous have same general formula &
physical properties.. (3) BTl ® TETEETE U0 A A g

(3) Homologous have different chemical i -

ies with different 1 formula -W: ﬂ'ﬁfi"l
properies Wil genera = .o
H’]’ﬁnmulﬂguus have saihe chemical () % i bl
- | properties with same general formula. i

Which of the following metal does not R W u W @ EE T wE R Ty

with either cold or hot water? T o g -

(1) Mg (2) Ca (2) Ca

(3) Na (4) Fe (3) Na ; ’ e
Which of the following element is 2 mem friddsmrmadisiwmat
of third period? 1)K (2) Ca
(K (2) Ca . '

(3) Ar ] (4) Sc (4) Sc

For geactioi N,{g) + 3H,(g) —— 2NH,(g)

N,(g) + 3H,{g) —— 2NH, (g) sffiem = fom
6 moles of H, is taken with excess of N, gas.

N, fraw anfiem & iy 6 Fr |, &t &1 s

Mass of ammonia gas produced is s | =1 TomE -
(1) 51 gm (2) 34 gm ; 3l

51 gm {2) 34 gm
(3¥17 gm (4) 68 gm fﬂr :

An aiom with 3 protons and 4 neutrons will

20, o
have a valency of - WWJmmdﬁﬁEﬂﬂm

(1)3 BT - @1 @4 (1)3 M@ (4) 4
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Section (C)
e G :
( Mathematics )

e -

3

' : o

fla*+ B = (a® + b}, then find the value of -Ei—: QL’H‘ -4
~L:=’+b‘F={B’+b‘FM‘i Ert;'nwrﬂm: _

3 3
P ) ) ci2 O QmT
i ! & ]
.M_Pitmm"“ﬂm;
TR E-' =228 x W WA A - T 21
. : _o e g7
| (A)2 (8)4 © < 31

o

Hh‘-..
o,
&

ix=1F+ (y=3F + (2=5F + (L~ 7) = 0, then xyat + 16 is squalto ; N s = ey
) TR (= 1P+ (= 3F + (2=5F + (0-TF = 08 T xyet + g6 7wre £ WK =
7 wE @)% f i i

an acaceri figare, ABCD is @ paralilogram in which £DAB = T5* and ZDBC = B0 Thi the angle 08 s :
& gf a7 3 ABCO T e Wk &) Poeerd #m £DAB = 75* ally aiw DBC = 60% 5 mgmnmrt

- N8 h = é.

i'gc?i*ﬂm*ﬂli-ﬂ"‘% R I 152‘3}{' - |4k=0o

5§ O e SRPREAS IR, AN XS T o
P2 XN --

35 &
g T ’“5" H—'?a_ —
Lo P S P BT

Y '- '

k% | :fﬁ.:o{
o (eSS T I': A r')\_>

1, LYo |
IF 7 3-8 SR & ki
{ :1;'..'-‘ & i
RS R 8
b M= Iyt




(ML‘) (RN s o -
--"""--.._‘_H‘ 1—9 -.__.,1 u
;‘ L.['r - 1-.-I ')
ThtprﬁentmﬂnufngﬂsufP&Qmi’; 6,1F ﬂmqaﬂaﬁqﬂ‘ﬁamﬂﬂﬁq ﬁ%‘|qﬁij_.
thie sum of present ages of P & Q is 50 years, <} AT 37 1 AT S0 E ‘Ei'rq-qqq-mP
thanﬂusmunfngﬁnﬂ"&[]hefm-l ars is ﬁmqﬁmmwm_
(1) 52 years (2) 50 years (2) 50 74
(3) 42 years (4) 26 years (4) 26 T4
2 & sin® 30° T 7E &M
%m: +ﬂ.‘ﬂgd - § sin® 30°is equal to
sin20° sin3l ;
(11 () -1 E:e l::’ W @ 2 (4) 2
If (2% + x + 1) is divided by (x - 3), then (34 x4+ 1)F (x - 5) A fawnfm e = &
remainder s - B -
(1) 0 @) 31 Lerin
(3) -31 (4) 33 @) 33
o Value of "0’ for which n® terms of P "\ A, fareh ferd g wwrem Avfiad 63, 65, 67

63, 65, 67 ...... and 3, 10, 17, ....
(1) 14 (2) 15 (3313

.. am 3, 10, 17, ... 71 o# 9% 994 §, £

4 @15 @A @) 12




2, 7 €0
» 1"‘:' ;
.l" w {"E .
5 . )
it mntarqa,mr?:ﬂi:'lk;uﬂiqlﬂxi-px+q=u 20, ﬂltﬂmﬁwﬂmﬂixl-p:+q=ﬂ?ﬂﬁ"ﬁ1
g
‘- “
2+ Bm.qcémﬂiﬂmﬁs},m&fi, I+ﬁfp.qeﬁhmﬂ.ﬂﬁmm
q
\b P
equal to-
(2 (2) 3 M (4) 8 (12 (2) 3 (3) 4 (4) B

Median of a group of 20 distinct numbers was
found to be 55. If largest g numbers are

Eﬂﬁqmﬁﬂnﬁﬂﬁﬁmﬂilﬂﬁw
g wemsd maﬂqf‘.cmﬂmﬂt&ﬁmﬁ

an,

crereased by 10, then median of the new groug, wftz Brt-
is- (1) 55
55
{2{;5 (2) 65
fcs:- 55.5 @) 355
4 @¥cant be detcrmined (4) 5 T Tt 0 W ¥
SPACE FOR ROUGH WORK / TF W% & Tl 2mme
Y ﬁy\
T o XY
On= =2 H‘*\}—r ol
Qan ° 53"\'&‘4)1’ & d}_,ly}(n
“ehtdh - -
~ _yain @
G aan = -4 h ) C
65' — ?h"ih"‘
g~ 8w /
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Section (D)
(Biology)

0 : [ iralion ?
Which of the following chemical reaction shows (he aerobic respsra
(B)6CO, + 6H,0 ——CH .0, + B0, (B)C,H,,0,+60,——BCO,+5H,0+ 674 ke
(C)CH.0, + 0,——6CO, +6H,0 +688KCal  (D)C,H,0, + 60, —— 6H,CO,
Fifafm

rarafas fm @ A affwfte Rrm whah B 7

{A)6CO,+8H.0——C H 0, +80, (B)CH,,0,+60,——6C0,+5H 0+ 674 KCal

(C)C,H,,0,+ 60,——&C0, + 6H,0 + 686 KCal

Living membrans ocours in

{A) eyteplasm, chloroplast and mitechondria

(C) chremesomes, chloroplasts and starch grain
fan h onfiem B &)

(D)CH,,0, + 60, —— 6H LO,

(B) cytoplasm, nuclei and starch grain
(D) all of the above

() Tt T, aeiieTR T eereiRE (B) TR g, =yfaed v e
(C) TE, TR g R w5 (D) wi

In man thickest skin is found in

(A} palm {B)Ear (C)sale {D) thumb
THm & gen S ol ot anh £ -
greteci (B) #T (C) argan (D) 27
Which of the foliowing disease is viral disease

{A) Tubercutoss (B) Posa {C) Diphtheria (D) Syphilis
Preatten 3 3 R 9 ol )

(&) TETEE T (B) diferah (c) iR {0) Brsirm

The major deawback of D.0.T. as a pesticide s that

(A} @is significantly less effective than other pesticides (B) it's not readily and rapidty. degraded in nature
(C) erganism al once develop resistance o it (D) it's cost of preduction is high

s FrpArd) (i) dhed & w4 DOT @ wed o wwm am g ?
(R) T 3 FemiiE) 2 i T o m L (B) 7 mg A ¥h A mn ared A frafia =@ @ o

(C)dm g o efviuem s s A B (D) 5o Pim &) = afers 2

Exote breed of poullry binds having high egg laying capacity is =

[A}White leghom (B) Asesl (C)White cornish (D) Ghaghas
W & o) e e gon o o Podeh e B -

(A) w52 FTEA (B) v (Chemse wifin (D) BT

4
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g7, Malaria is coused by a .......... 2. wefm wmwETm ...
(1) Protozoan (2) Fungi (1) W (2) FFE
(3 Virus (4) Bacteria (3yarE (4) =ity
2. The function of mammalian kidney is to . Frfdi & g =1 T wrd Feafsta & §
excrete TTR e w——
(1) extra salis, urca and excess waler )
(2) extra urea, excess water and excess amine ﬂfﬂﬁ'ﬁﬁﬁm st e e sifu it s
acids (3) anfafem gfvm, sfafor writerdz A sffm
(3) extra urea, extra earbohydrates and extra x5 ' :
water
(4) extra urea, extra salts and extra sug# @ e, 3 Gl ﬁm
3. In which of the following process Pyruvate js . 29 s wiEn A e smm oaco, S =
coavenied into alcohol and CO, 7 [ s
{1} Acrbic respiration (2) Fermentation (rSTgEm T (2) fervas
(3) Glycolysis (4) Kreb's cyele N (3) TR TE (4) ¥ 55
2. Which is the largest phylum of animal 20 Hﬂ'ﬁiﬂﬂﬁm;lmﬁﬂm £7?
(1) Arthropoda 2) Mollusca 1, -0 T (2) e
(3) Poriferz (4) Cuidaria \ (3) Sty (3) Fr2fe

SPACE FOR ROUGH WORK / v wd W el
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PART -2

(IQ) *""'W/

.

Twelve people form a club. By picking lots, ; wfis T T A F o omi
one of them will host a dinner for all onco ina Im.ﬁﬁﬁmam,mﬁﬂqmnl?ﬁmt
month. The number of dinners a particular fem ofindra &t Swarh 0 | 0w @ § fsh
member has to host in one vear is weem W R s ufnis £ feeh
(a}  One . W w2

(b)  Zero T

(el Three b

(d)  Cannot be predicted o) W=

V EEE TE ST S E

T St M & e 3, e f fied
T, W unEw U5 W oI w= o
Wi WY TH VSR R

sm(r e dfmd) 0 s0 e0 T s
il I (fmd) 60 48 g0 a3z
% Fm 9% w0 v 80 ¥ fw ww B I &

An automcbile owner reduced his maonthly
petrol consumption when the prices went up,
price-consumption relationship is as

follows :
Price {in ¥ per litre) 40 5D &0
Menthly consumption (in litres) 60 48
If the price goes up to ¢ 80 per

expected consumption (in litres) will be IHE M{Eﬂaﬂ}mﬂrﬂ?
(2} 30 30
by =28 (b 28
el 28 (=} 285
@ 2 gy 24

SPFACE FOR ROUGH WORK 70w s ‘W Ty wep
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“4 . i“ i teal, o emanlilte  wlleagdeed iy ""1'_ i Wl W, 1wk Nl B Wer A wor

.

1 gentisin vl seeninedd BIFE pume beos Do smely i )W A i gt Do ey s 8 p
Ulve aquiestioin. 1F Qi olstinbinadd o Bt o Al 0 | o) ol e Dwar ) sl ot wen e Boped Afik
thie Leal mind ol apamet fodim b s Tasl oaisiei oo i) Yew afe A0 W B0 A W @
wigimd vk b, Diivw iiniy agisat b wiis (lsis UL AL TR B L S E R
i il pemi Y
fise 1
1" g
in oIl 0
(17— {ml s
el A6 fili 1]
fdy 18

A Father §s nbone Dines pn olid ne Dils son sl 1’“'. UCTR LT A i, P A &y qp @y A LCl] *
the mother (s elght times as olil ss e s, e of) Sl o gy o ow ) s g % o fem

The sum of the fatlier's and the moller's e SR T L N
in 81 yoars, What is Do agee of Die sop 3 g oy
n) 7 yenrs (wp 7 urd
bl B oyears
" b oud
fch 4 year
L
(d) 3 years o 18
My 8 Hd

Four pereona A, 11, C and D connlating of lwn& i r’/ um g § oA, 1, © s D owr wfin 21 farrfen
martied couples are in o group, Noth iy wigl & wn A K ) S o] T afid) #
women mre shorter Uian thelr respective vk # WA K A oY vt i H wrah

husbands. A lu the tallosl nmong the foar, O BT rurd stfirg
I taller than B, D Ofa IWa brother. In this il g i 2 D, 0w

Ll
:::::;:1::]; e of the followlng stoloments 'Iﬂ:l'-'l:l 'ﬂl.ﬂ-':]mﬁ::f :'?m wudl # @
ta) ALl four have family tios, tw) A il wafinel  aftenfon iy %
(b) INIE the shortast smong the four., (et v 3, g o) ek wrwdy e B
te)  Ciulallér than b, AT G viwrk D wfir g

id} A s DVe hushand, Y A, B ! |

NIFACTE OB ROTMIN WORIC / Ye sl o Thf g f?.l gl == -

o GO o I e

w8 #‘%ﬂ ey
(@) — Yol ¥ P @ vz o)
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AR

C AB,C DY WEE
Each of A, B, C and D has € 100. A pays ¥ 20 _dmhﬁﬂrcﬁwi o

T 30 from
to B, whnpa,fll.'lﬂtﬂﬂ..\l'hnﬂ“ St B e 3 :
ollowing T w= o ﬁq%
n_mmhmu:;whbrhnmurﬂmr 0
:mtemnﬂuinnnl'mrrﬁt? L"x . m-ﬂ;;m nﬂ.’r;ﬁ )
(a) Cisthe richest. ] lak mﬂﬁﬂqwg I.
ip) D isthe pooresl. .
(e Ehumuthmwhnlﬁmdn-hnm @ ﬁmﬁé%mﬁw%mﬁ.m
togethaer. T8 Ffirs #I
(d) B is richer than D. @ B, D ¥ waEd

In & town, 45% population read magazine A, ﬁﬁﬂamﬂ iﬁﬁﬁﬂﬂﬁmaﬂgiﬁ

55% read magazine B, 40% read magnzine C, mﬁﬂﬁiﬁﬁ“mﬁmi
30% read magazines A and B, 15% rend 30% A B W0 15% &
magazines B and C, 25% read magazines A ofi B o ¢ v €, 25% S i g
snd C; and 10% read all the three magazines. GT{;'IE i lﬁﬁﬂﬂ'—'ﬂmmgﬁ
What percentage do not read any magezine 7 ( ! 1%%#[‘1“%’5%#?:?;
(a) 10% ‘- 1

(b} 15% iy u::» :mr.:a

iy 20 2%

(d)  25% %}Eﬁﬁ

Two equal glasses of same  type mﬁﬂm#ﬂmﬁmmm#:
respectively 1/3 and 1/4 full of milk. They are U‘Eﬂﬂﬂgtﬂﬂﬁﬁm’fﬁﬁﬁﬁ

then filled up with water and the contents are 7+ B w0 T, s e E S mE 5
mixed in & pot. What s the ratio of milk and- ' % u & firen fomn e 1 5w v F g oK
8 T W T g e

water in the pot 7 ok
k ) @?:ﬁ LJ H

(a) 7:17

|
® 1:3 Lo YD ,lﬁrfl:il /;I/?_', /Ir? g
- 4 :
e} 8:91 "'ﬁ ;
(=
) 1s f- oo >
Y A= j6D—> 1B A

1%‘.}%@
P=lov — R0

L =1 — 20 — |6D
Cr= 6 =3 1,*3_1::, — Yy
e I —= 12

—




g2 Out of 130 students appearing in an @qﬂqqﬂmﬁmﬁﬁjauﬁﬁﬁﬁﬂ,
gramination, 62 failed in English, 52 failed in "2 g2 Pramdl ailiolt & arefiel wg, 52 Fromedl nita

Mathematics, whereas 24 failed in both | i apgefied o, wrafs 24 Rl 3l st afém
English and Mathematics. The number of ﬂﬂﬂﬂﬂﬂmﬁlﬂﬁhﬂﬂﬁﬁﬂfﬁﬁﬂ
geadents who passed finally is forenfilfdi <A rem wm & 7
{a) 40 / ___{n!"--!._ﬂ'
& = b 60
il (e} &6
& &0
(d) 60

» &  In s group of persons travelling in a bus, fareft wm § T e e =il & U6 W A,
§ perscas can speak Tamil, 15 can spoak 6 =fn alva st wa &, 15 =afn e e
Hindi end § can speak Gujarati, In that group wrt § ol 5 =fw oo S T § | 9W
mmmﬂwﬂulw;f aqp 4 ®if ot s B e v T e

I persons in the group can speak wFa | oft | TR ¥ 2 =fR e T wmnd

{d) 55
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I= & parking zrea, the total number of ﬁﬁﬁ‘“ﬁﬂl‘ﬁ!ﬁ.,

B ol e cars tfour-whinelers) and soo i mﬁéﬁmfﬁ[%m maz
octorbikes (two-wheelers) is 100 more #Hi - e WI~
twice the number of parked vehicles, The 1 3, T By g A ) s
mmsther of cars narked is - ‘@%lmmilﬂﬁﬂiwﬁﬁ
fal 35 s mmt? L
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uw frondfi ® O wEwE E g fo
A to opt for 2 gubjects out of a ¥ :
5 :::ﬂ_,ﬁ 1:[;:51 mﬁ:ﬂ_ namely, Commerce, ana: e, swdaren, wifSnh, wfm | o,

Economics, Statistics, Mathematics 1 and nftra 11 8 @ 2 Bt w0 b ) nfi

'! It e
X II ca be ﬁ"ﬁ = e a -~ l]ﬁm : .‘_ﬁ :
Mathematics [L Mnthnq\albcﬂ-_ i il
offered only if Mathematics 1is also o i . 2 i it i n ﬁ'
The number of different mrlnhmutium of twa / Iﬁﬂ'mﬁl 55

subjects which can be opted is -t

iat B G
ikl 6 7
el T 8
dy B -

wfF 3 5 AR TR WA v 5m 7
ordered B pairs of black socks and [(43/" &% B A3
mmp:imn?hmw:aszkz-ﬁce;ﬂu of a~ o 1 A B T R A e o
black pair was thrice that of a brown pair. lﬁﬁﬁﬁﬂﬁﬁﬂquﬂﬁ_iﬁam
While preparing the bill, the bill clerk wma, fam ok 3w A 9 oy
hﬁrdmngedmenumhﬂufhinn::hndﬁ:; =) el B AE A wed R Bk i Ge
irs by mistake which incrense e bi o § 0 o T
Ilmnl:l'i!».".‘l-'hnt'n.va.-;thtnuml:mrnl‘;;miﬁﬂfhr:rwn ﬂ:;ﬂlﬁ % F At
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Between 6 PM and 7 PM the minute hand of a  (¢,) 590K 6 W3 8 7 % & dia fog ww,
clock will be ahead of the hour hand by udt it fire g 92 HiogE @ afem am

3 minutes at it 2
(a) 6:15PM :/w/?ﬁﬂma:m
®) 6:18PM i (b) YOG 6 : 18
e} 6:36FM - @ma:aa
(d) 6:48PM IR
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 There are 5 tasks and 5 persons. Task-1 45— 6% § 3 seats § | wd, T T =E-1E
m'ﬁ“"“ be assigned to either person-1. or s o W 9 fom o T | w2, W

I ﬁrmﬂ'i Task-2 must be nssigned to either L wifi.n &1 maal =4 B A BT FE
fperson-3 or person-4. Every person is to bo | W w W O W e A R e

aﬂ:g-ned one task. In how many ways can the A - ! 2

aesignment be dene 7 L

% 6 (a)

12 (k) 12

© s

(dy 144 id) 144

‘ g £ offeE G 4:3F FE9A A
45.  The monthly incomes of Peter and Paul are in B ?ﬁﬁa,g#mﬁﬁ | o T *
the ratio of 4 : 3. Their expenses are in the .L- - 'E!ﬂ:bi ﬁmaﬁjﬁiﬁ'ﬁ
ratio of 3 : 2. If each saves T 6,000 at the end g v S0 .

of the wmonth, their monthly incomes et aEs = (T ﬁ} . T E?
R pesmeriy ave {ha %) /’!—\ " 24,000 iR 18,000

1al 24,000 and 18,000 b1 28,000 3 21,000
(b) 28,000 and 21,000 3

(&) 32,000 and 24,000 & (e} 82,000 FK ng_um
(@) 34,000 and 26,000 (d) 34,000 3T 26,000

Two cities A and B are 360 km apart. Alear g5 3 T8, A 3 B, Thimt 4§ 360 kp N W N
2 gmrmmmuawimupmnrmmm/ﬁd\i:uﬁma#hmﬁ 40 km/hr %1 WTE B

returns to A with a speed of 60 km/hr. What is 71 & 3 60 kmhr ¥ T E ATE T2 I
the average speed of the car ? P IS T R

) =45 /e . (a) 45 km/hr

@mw )<

fe} 50 km/hr () 45kmhe

d) 58khr Mﬁﬂhﬂm:

(dY 55 km/hr
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Directions for the following 2 (o) items :

Recd the following possage ol

itemz thet follow :
A B,C.D,Eand F are ecousing, No two cousing
are of the uutqn.bull“ have birthdays on
the same day of the same month. The youngest

Berfaftrr 2 (33) et & e fidy

7 d answer the 2 (lwo)  Referfm sftede ® oRw ot s 94 am
f !fﬂ)mf#mﬂﬁl{ ¢

Lﬁ.‘é.D.EﬂhFﬁmfﬁmﬁﬁxﬂaﬁ

‘e 17 years old and the aldest E is 22 years old. F 6w B B AR W wm Ry i g
hmihﬂtb:mﬂlnﬂﬂinngﬂ,ﬂinﬂldﬂ 17 wd = & ol wl T E, spEiwd | rig
than B. C is older than D. A is one year older Asfi e DpE A A mday
than C. g cpamidamd ACRmmaiam
45, Which oge of the following is possible 7 feffm s w2

(a) Dis20yearsold U al D, z09d w18

@ Fis 18 years old

48,

/h)—F, 18 74 w1 & % 1
(e) F,19%4 =7

(dy F, 2094w 8

() Fis 18 yearsold
@) Fis20 yearsold

What is the number of logically posaible Jﬂg;ﬁmﬁfmyw#mmf

erders of all six cousing in terms of increasing aﬁnawﬂﬁa%mgﬁm“ﬁmﬁmi?
xge? ; -
i -
m 1 é@;g -
& 2 © 3
e 3 d) 4
d 4
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EPACTE PO oGl Wonid & i s o el s
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I i o
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so. A cow costs moro than 4 goats but less than —50. v v w4 et ) e A st}
5 gonts. IT a gont costs botween T 600 and  © Afi 5 wefad ) o A ww @ | IR wR
T 800, which of the following is n most valfd L el i Frm © goo afit © soo % A &, W
ﬂ]nc]'l.llf-l]'ﬂ? i ﬁﬂﬁ'lﬁﬂ?lﬂ"ﬁﬂﬂq.m, Fﬂﬂﬂhﬁﬁ#%?

than € 2,500,
(a) A cow costs more than T 2,600 () U T ) Fem e 2,500 8 i

(b) A cow costs less than ¥ 3,600
(@ A cow costs botween ¥ 2,600 and () Y v v 5,600 FAE |

T 3,800. (&) T ) i w 2,600 oft T 9,800 %
(d) A cow costs betweon € 2,400 and g
T 4,000, il x
: (47 T v ) frm 7 2,400 3 € 4,000 %
' da R
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